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617523 = 3 x 43 x 4787 x 1

ogooo
2P + 1 = 3(340340n + 205841)

g0obOobooo3obobooooooboboooobooboboDoboDobooobUobDOoobDOoo
goo

Q =308767 0000
P = 510510n + 308767

129



2P + 1 =2(510510n 4 308767) + 1 = 1021020n + 617534 + 1 = 1021020n + 617535

0000010210200 20 2003,5,7,11,13,17000000 10000000
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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gooooOooOo3ooooooobdoboobooUooUoooDoOobDOooDOobDOoboboboOooog
googo

Q=3088270000
P = 510510n + 308827
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617687 =7 x 88241 x 1

oooo
2P + 1 = 7(145860n + 88241)

133



goooooogvyoUooOOoO0oOoU0OOoU0OO0DOOU0DOOoU0ODOU0ODOOUODOODOOUODOO
goo

Q=308849 0000
P = 510510n + 308849

2P + 1 = 2(510510n + 308849) + 1 = 10210201 + 617698 + 1 = 10210201 + 617699
0000010210200 20 2003,5,7,11,13,17000000 1000000

617699 = 617699 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 107189

gbooboobooobooboboobboobboooboooboon

Q=3088510000
P = 510510n + 308851
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2P + 1 = 2(510510n + 308881) 4 1 = 10210201 + 617762 + 1 = 10210201 + 617763
0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 308887

2P 4+ 1 =2(510510n + 308887) + 1 = 1021020n + 617774 + 1 = 1021020n + 617775

0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 308897

2P + 1 = 2(510510n + 308897) + 1 = 10210201 4 617794 + 1 = 10210201 + 617795
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617795 =5 x 157 x 787 x 1
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P = 5105101 + 308899
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2P + 1 = 510510m + 107309
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P = 510510n + 308921

2P + 1 = 2(510510n + 308921) 4+ 1 = 10210201 + 617842 + 1 = 10210201 + 617843
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617843 = 617843 x 1
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Q=3089230000
P = 510510n + 308923

2P + 1 = 2(510510n + 308923) + 1 = 10210201 4 617846 + 1 = 10210200 + 617847
0000010210200 20 2003,5,7,11,13,17000000 10000000

617847 = 3 x 205949 x 1
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2P + 1 = 3(340340n + 205949)
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Q=3089270000
P = 510510n + 308927

2P 4+ 1 =2(510510n + 308927) + 1 = 1021020n + 617854 + 1 = 10210201 + 617855
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2P + 1 = 510510m + 107369
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oooo
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P = 5105100 + 308953

2P + 1 = 2(510510n 4 308953) + 1 = 1021020n + 617906 + 1 = 1021020n + 617907
0000010210200 20 2003,5,7,11,13,17000000 10000000

617907 = 3 x 59 x 3491 x 1
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2P + 1 =2(510510n + 308963) + 1 = 10210201 + 617926 + 1 = 1021020n + 617927

0000010210200 20 2003,5,7,11,13,17000000 1000000
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P = 510510n + 308977

2P + 1 = 2(510510n + 308977) + 1 = 10210201 4 617954 + 1 = 10210201 + 617955
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617955 =3 x 5 x 13 x 3169 x 1

oooo
2P + 1 = 195(5236n + 3169)
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P = 510510n + 308981

2P 4+ 1 = 2(510510n + 308981) + 1 = 10210201 4 617962 + 1 = 1021020n + 617963
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2P 4+ 1 = 2(510510n + 308989) + 1 = 10210201 4 617978 + 1 = 1021020n + 617979
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goobOobooo3oboboboooooboboooOobobUobDobDobooobobobDoo
goo

Q=3089930000
P = 510510n + 308993
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P = 510510n + 309011

2P 4+ 1 =2(510510n + 309011) + 1 = 1021020n + 618022 + 1 = 10210201 + 618023
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oooo
2P + 1 = 3(340340n + 206013)
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618063 = 3 x 206021 x 1

oooo
2P + 1 = 3(340340n + 206021)
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Q=3090370000
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2P 4+ 1 =2(510510n + 309037) + 1 = 1021020n + 618074 + 1 = 1021020n + 618075
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oooo
2P + 1 = 11(92820n + 56689)
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Q=3117910000
P = 510510n + 311791

2P 4+ 1 =2(510510n + 311791) + 1 = 10210201 + 623582 + 1 = 10210201 + 623583

0000010210200 20 2003,5,7,11,13,17000000 10000000

623583 =3 x 3 x 193 x 359 x 1

oooo
2P + 1 = 3(340340n + 207861)
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Q=3118030000
P = 510510n + 311803

2P 4+ 1 =2(510510n + 311803) + 1 = 10210201 + 623606 + 1 = 1021020n + 623607
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623607 = 3 x 207869 x 1

oooo
2P + 1 = 3(340340n + 207869)
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goo

Q=3118070000
P = 5105100 + 311807

2P + 1 = 2(510510n + 311807) 4+ 1 = 10210201 + 623614 + 1 = 10210201 + 623615
0000010210200 20 2003,5,7,11,13,17000000 10000000

623615 =5 x 191 x 653 x 1

oooo
2P + 1 = 5(204204n + 124723)
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goo

Q=3118090000
P = 5105100 + 311809

2P + 1 = 2(510510n + 311809) + 1 = 1021020n + 623618 + 1 = 1021020n + 623619
0000010210200 20 2003,5,7,11,13,17000000 10000000

623619 =3 x 3 x3x3x7699 x 1

oooo
2P + 1 = 3(340340n + 207873)

gooooooOo3soooooooUooboUooU0boOUDbDOoUobOoUbbOUDbDOoUObDboUDboOoO
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Q=3118130000
P =510510n + 311813

2P + 1 =2(510510n + 311813) + 1 = 1021020n + 623626 + 1 = 1021020n + 623627
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623627 = 31 x 20117 x 1

oooo 10210200 000000000000

2P + 1 =510510m + 113117
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Q=3118190000
P = 510510n + 311819

2P + 1 = 2(510510n + 311819) 4+ 1 = 10210201 + 623638 + 1 = 10210201 + 623639
0000010210200 20 2003,5,7,11,13,17000000 1000000

623639 = 73 x 8543 x 1
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2P +1 =510510m + 113129
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Q=311821 0000
P =510510n + 311821

2P + 1 =2(510510n + 311821) + 1 = 1021020n + 623642 + 1 = 1021020n + 623643

0000010210200 20 2003,5,7,11,13,17000000 10000000

623643 = 3 x 47 x 4423 x 1

good
2P + 1 = 3(340340n + 207881)
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Q=3118270000
P = 510510n + 311827

2P + 1 =2(510510n + 311827) + 1 = 1021020n + 623654 + 1 = 10210201 + 623655

0000010210200 20 2003,5,7,11,13,17000000 10000000

623655 =3 x 3 x 5 x 13859 x 1

oooo
2P + 1 = 15(68068n + 41577)
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Q=3118330000
P = 510510n + 311833

2P + 1 =2(510510n + 311833) + 1 = 10210201 + 623666 + 1 = 1021020n + 623667
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623667 = 3 x 11 x 18899 x 1
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2P + 1 = 33(30940n + 18899)
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Q=3118370000
P = 510510n + 311837

2P + 1 = 2(510510n + 311837) 4+ 1 = 10210201 + 623674 + 1 = 10210201 + 623675
0000010210200 20 2003,5,7,11,13,17000000 10000000

623675 =5 x5 x 13 x 19 x 101 x 1

oooo
2P + 1 = 65(15708n + 9595)
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Q=3118490000
P = 510510n + 311849

2P + 1 = 2(510510n + 311849) + 1 = 10210201 + 623698 + 1 = 10210201 + 623699
0000010210200 20 2003,5,7,11,13,17000000 1000000

623699 = 623699 x 1
Ooooo 10210200 000000000000
2P +1 =510510m + 113189
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Q=3118510000
P =510510n + 311851

2P + 1 =2(510510n + 311851) + 1 = 1021020n + 623702 + 1 = 10210201 + 623703

0000010210200 20 2003,5,7,11,13,17000000 10000000

623703 = 3 x 29 x 67 x 107 x 1

oooo
2P + 1 = 3(340340n + 207901)
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Q=3118630000
P = 510510n + 311863

2P + 1 =2(510510n + 311863) + 1 = 1021020n + 623726 + 1 = 1021020n + 623727

0000010210200 20 2003,5,7,11,13,17000000 10000000

623727 =3 x I x I x 13 x 1777 x 1

good
2P +1 = 39(26180n + 15993)
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Q=3118670000
P = 510510n + 311867

2P 4+ 1 =2(510510n + 311867) + 1 = 1021020n + 623734 + 1 = 1021020n + 623735

0000010210200 20 2003,5,7,11,13,17000000 10000000

623735 =5 x 7T x 71 x 251 x1

oooo
2P + 1 = 35(29172n + 17821)
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good

Q=3118690000
P = 510510n + 311869

2P + 1 = 2(510510n + 311869) 4+ 1 = 10210201 + 623738 + 1 = 10210201 + 623739
0000010210200 20 2003,5,7,11,13,17000000 10000000

623739 = 3 x 257 x 809 x 1

good
2P + 1 = 3(340340n + 207913)
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Q=3118730000
P = 510510n + 311873
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2P + 1 =2(510510n + 311873) + 1 = 1021020n + 623746 + 1 = 1021020n + 623747

0000010210200 20 2003,5,7,11,13,17000000 10000000

623747 = 17 x 36691 x 1

oooo
2P + 1 = 17(60060n + 36691)
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Q=3118790000
P = 510510n + 311879

2P + 1 = 2(510510n + 311879) + 1 = 10210201 + 623758 + 1 = 10210201 + 623759
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623759 = 623759 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 113249
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Q=311881 0000
P =510510n + 311881

2P + 1 = 2(510510n + 311881) 4 1 = 10210201 + 623762 + 1 = 10210201 + 623763
0000010210200 20 2003,5,7,11,13,17000000 10000000

623763 =3 x 3 x 7 x9901 x 1

oooo
2P + 1 = 21(48620n + 29703)
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good

Q=3118870000
P = 510510n + 311887

2P 4+ 1 =2(510510n + 311887) + 1 = 1021020n + 623774 + 1 = 1021020n + 623775

0000010210200 20 2003,5,7,11,13,17000000 10000000

623775 =3 x5 x5 x 8317 x 1
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good

Q=311891 0000
P =510510n + 311891

2P 4+ 1 = 2(510510n + 311891) + 1 = 10210201 + 623782 + 1 = 1021020n + 623783
0000010210200 20 2003,5,7,11,13,17000000 1000000

623783 =23 x 37T x 733 x 1

o000 10210200 000000000000

2P +1 = 510510m + 113273
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Q=3118930000
P = 510510n + 311893

2P + 1 = 2(510510n + 311893) + 1 = 10210201 + 623786 + 1 = 10210201 + 623787
0000010210200 20 2003,5,7,11,13,17000000 10000000

623787 =3 x 337 x 617 x 1

good
2P + 1 = 3(340340n + 207929)
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goo

Q=3118970000
P = 5105100 + 311897

2P + 1 =2(510510n + 311897) + 1 = 1021020n + 623794 + 1 = 10210201 + 623795

0000010210200 20 2003,5,7,11,13,17000000 10000000

623795 =5 x 124759 x 1

oooo
2P + 1 = 5(204204n + 124759)
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Q=3119030000
P = 510510n + 311903

2P + 1 = 2(510510n + 311903) + 1 = 10210201 4 623806 + 1 = 10210201 + 623807
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623807 = 59 x 97 x 109 x 1
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2P 4+ 1 =510510m + 113297
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Q=3119110000
P = 510510n + 311911

2P 4+ 1 =2(510510n + 311911) + 1 = 10210201 + 623822 + 1 = 10210201 + 623823

0000010210200 20 2003,5,7,11,13,17000000 10000000

623823 = 3 x 207941 x 1
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2P + 1 = 3(340340n + 207941)
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Q=3119170000
P = 510510n + 311917

2P + 1 =2(510510n + 311917) + 1 = 1021020n + 623834 + 1 = 10210201 + 623835

0000010210200 20 2003,5,7,11,13,17000000 10000000

623835 =3 x 3 x 3 x b x 4621 x 1
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good
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P =510510n + 311921

2P 4+ 1 =2(510510n + 311921) 4+ 1 = 10210201 + 623842 + 1 = 10210201 + 623843

294



0000010210200 20 2003,5,7,11,13,17000000 10000000

623843 = 11 x 56713 x 1
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2P + 1 =11(92820n + 56713)
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Q=3119230000
P = 5105100 + 311923

2P +1 = 2(510510n + 311923) 4+ 1 = 10210201 + 623846 + 1 = 10210201 + 623847
0000010210200 20 2003,5,7,11,13,17000000 10000000

623847 =3 x 7 x 61 x 487 x 1

oooo
2P + 1 = 21(48620n + 29707)
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Q=3119290000
P = 510510n + 311929

2P + 1 = 2(510510n + 311929) + 1 = 1021020n + 623858 + 1 = 1021020n + 623859
0000010210200 20 2003,5,7,11,13,17000000 10000000

623859 = 3 x 207953 x 1

oooo
2P + 1 = 3(340340n + 207953)
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Q=3119390000
P = 510510n + 311939

2P 4+ 1 =2(510510n + 311939) + 1 = 1021020n + 623878 + 1 = 1021020n + 623879
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623879 = 623879 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 113369
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Q=3119470000
P = 5105100 + 311947

2P + 1 =2(510510n 4 311947) + 1 = 1021020n + 623894 + 1 = 10210201 + 623895

0000010210200 20 2003,5,7,11,13,17000000 10000000

623895 =3 x 5 x 41593 x 1
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2P + 1 = 15(68068n + 41593)
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Q=3119510000
P =510510n + 311951

2P + 1 =2(510510n + 311951) + 1 = 10210201 + 623902 + 1 = 10210201 + 623903

0000010210200 20 2003,5,7,11,13,17000000 10000000

623903 =7 x 19 x 4691 x 1

oooo
2P + 1 = 7(145860n + 89129)
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Q=3119530000
P = 510510n + 311953

2P + 1 =2(510510n + 311953) + 1 = 10210201 + 623906 + 1 = 10210201 + 623907

0000010210200 20 2003,5,7,11,13,17000000 10000000

623907 =3 x 3 x 181 x 383 x 1
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2P + 1 = 3(340340n + 207969)
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Q=3119570000
P = 510510n + 311957

2P 4+ 1 =2(510510n + 311957) + 1 = 1021020n + 623914 + 1 = 10210201 + 623915
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623915 = 5 x 124783 x 1
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2P + 1 = 5(204204n + 124783)
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Q=3119590000
P = 510510n + 311959

2P 4+ 1 =2(510510n + 311959) + 1 = 10210201 + 623918 + 1 = 10210201 + 623919
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2P + 1 = 3(340340n + 207973)
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goo
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